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1. If 20 men take 30 days to complete a job, in

how many days can 25 men complete the job?

Watch Video Solution

2. Fifteen men take 10 days to complete a job

working 12 hours a day.How many hours a day

should 10 men work to complete the job in 20

days ?

Watch Video Solution

https://dl.doubtnut.com/l/_tsB0eNFZZWkR
https://dl.doubtnut.com/l/_OYfqL9zmKDMO
https://dl.doubtnut.com/l/_7Y0POxRXshwT


3. A piece of work can be done by 16 men in 8

days working 12 hours a day. How many men

are needed to complete another work, which is

three times the first one, in 24 days working 8

hours a days ?

Watch Video Solution

4. A can do a piece of work in 9 days, In how

many days can the work be completed if A and

B work together ?

Watch Video Solution

https://dl.doubtnut.com/l/_7Y0POxRXshwT
https://dl.doubtnut.com/l/_RXIOYlRMJAvx


5. A and B together can do a piece of work in

12 days and A alone can complete the work in

18 days. How long will B alone take to

complete the job ?

Watch Video Solution

6. A and B working together can do a piece of

work in 12 days, B and C can do it in 15 days nd

C and A can do the same work in 20 days b.

https://dl.doubtnut.com/l/_RXIOYlRMJAvx
https://dl.doubtnut.com/l/_MyFdi7epoppU
https://dl.doubtnut.com/l/_4FdW84ngACt9


How long would each of them take to

complete the job?

Watch Video Solution

7. To complete a certain work, C working alone

takes twice as long as A and B working

together. A working alone takes 3 times as

long as B and C working together. All the three

together can complete the work in 5 days. How

long would each take to complete th work

individually?

https://dl.doubtnut.com/l/_4FdW84ngACt9
https://dl.doubtnut.com/l/_NbiGsiUrTnb9


Watch Video Solution

8. 4 men or 5 women can construct a wall in 82

days. How long will it take for 5 men and 4

women to do the same ?

Watch Video Solution

9. If 9 men and 12 boys can do a piece of work

in 4 days and 4 men and 16 boys can do the 

same work in 6 days, how long will 6 men and

24 boys take to complete the same work?

https://dl.doubtnut.com/l/_NbiGsiUrTnb9
https://dl.doubtnut.com/l/_YzG7dnxAxaL2
https://dl.doubtnut.com/l/_SFPW3axIgUHZ


Watch Video Solution

10. If X works 3 times as fast as Y and is able to

complete, a work in 40 days less than the

number of days taken by Y, then find the time

in which they can complete the work working

together.

Watch Video Solution

https://dl.doubtnut.com/l/_SFPW3axIgUHZ
https://dl.doubtnut.com/l/_fEe2TuMmFx9a


11. A and B can do a piece of work in 10 days

and 15 days respectively. They started the work

together but B left after sometime and A

finished the remaining work in 5 days. After

how many days from the start did B leave ?

Watch Video Solution

12. A and B can do a piece of work in 6 days

and 9 days respectively, they work on

alternative days starting with A on the first

https://dl.doubtnut.com/l/_qPMiPtw9ZKoV
https://dl.doubtnut.com/l/_cJDkJko6pD5P


day. In how many days will the work be

completed ?

Watch Video Solution

13. One man and 3 days can together complete

a piece of work in 10 days. One women alone

can complete it in 30 days. How many women

should accompany 3 men and 9 boys to

complete the same work in 2 days ?

Watch Video Solution

https://dl.doubtnut.com/l/_cJDkJko6pD5P
https://dl.doubtnut.com/l/_5wsO3NDAD3Dr
https://dl.doubtnut.com/l/_k9V3wQ7TNAsU


14. P,Q and R started a piece of work. They

worked on it for 5 days, which P left

View Text Solution

15. A,B and C can do a piece of work in 4 days, 5

days and 7 days respectively. They get ₹ 415 for

completing the job. If A, B and C have worked

together to complete the job, what is A's

share?

Watch Video Solution

https://dl.doubtnut.com/l/_k9V3wQ7TNAsU
https://dl.doubtnut.com/l/_12UPuSwPR27v


16. Two men P and Q can complete a job in 6

days and 8 days respectively. The total

remuneration for the job is ₹ 600. If they

completed the job with the help of a woman in

3 days, find the shares of P,Q and the women

respectively.

Watch Video Solution

17. Two pipes A and B can fill a tank in 12

minutes and 18 minutes respectively. If both

https://dl.doubtnut.com/l/_KlusNRcvKtyO
https://dl.doubtnut.com/l/_pivTuQFOD7DO


the pipes are opened simultaneously, how

long will they take to fill the tank ?

Watch Video Solution

18. Pipe A can fill a tank in 12 minutes,pipe B in

18 minutes and pipe C can empty the full tank

in 36 minutes. If all of them are opend

simultaneously, find the time taken to fill the

empty tank.

Watch Video Solution

https://dl.doubtnut.com/l/_pivTuQFOD7DO
https://dl.doubtnut.com/l/_1u0s7vP487An
https://dl.doubtnut.com/l/_YBSRgBQj0X6v


19. Two taps P and Q can fill an empty tank in

15 hours and 30 hours respectively. Both taps

were opened at 4 a.m. and after some time,

tap Q was closed. It was found that the tank

was full at 4 p.m. At what time was the tap Q

shut ?

Watch Video Solution

20. Three pipes X, Y and Z are fitted to a tank.

For any pipe, the rate of filling is the same as

that of the rate of empting. The rates of filiing

https://dl.doubtnut.com/l/_YBSRgBQj0X6v
https://dl.doubtnut.com/l/_WdoI75ywRup3


of X, Y and Z are in the ratio . X alone

can fill the tank in 5 hours. Find the time taken

in hours, to fill the tank if X is used as an

emptying pipe while the other two are used as

filling pipes.

Watch Video Solution

2: 3: 4

21. If 20 men take 30 days to complete a job, in

how many days can 25 men complete the job?

Watch Video Solution

https://dl.doubtnut.com/l/_WdoI75ywRup3
https://dl.doubtnut.com/l/_f3dnIwpJxmOD
https://dl.doubtnut.com/l/_wHqLS4iJAB8G


22. Fifteen men take 10 days to complete a job

working 12 hours a day.How many hours a day

should 10 men work to complete the job in 20

days ?

Watch Video Solution

23. A piece of work can be done by 16 men in 8

days working 12 hours a day. How many men

are needed to complete another work, which is

three times the first one, in 24 days working 8

hours a days ?

https://dl.doubtnut.com/l/_wHqLS4iJAB8G
https://dl.doubtnut.com/l/_lT23mJaTrd7A


Watch Video Solution

24. A can do a piece of work in 9 days and B

can do the same in 12 days. In how days can

the work be completed if A and B work

together?

Watch Video Solution

25. A and B together can do a piece of work in

12 days and A alone can complete the work in

https://dl.doubtnut.com/l/_lT23mJaTrd7A
https://dl.doubtnut.com/l/_hJpxfmrtKzsM
https://dl.doubtnut.com/l/_l50rXcySBLmy


18 days. How long will B alone take to

complete the job ?

Watch Video Solution

26. A and B together can do a piece of work in

12 days, B and C can do it in 15 days and C and

A can do the same work in 20 days. How long

would each of them take to complete the job?

Watch Video Solution

https://dl.doubtnut.com/l/_l50rXcySBLmy
https://dl.doubtnut.com/l/_IGd0nwIlZcxj


27. To complete a certain work, C working

alone takes twice as long as A and B working

together. A working alone takes 3 times as

long as B and C working together. All the three

together can complete the work in 5 days. How

long would each take to complete th work

individually?

Watch Video Solution

https://dl.doubtnut.com/l/_ImQRdjiEgwMl


28. 4 men or 5 women can construct a wall in

82 days. How long will it take for 5 men and 4

women to do the same ?

Watch Video Solution

29. If 9 men and 12 boys can do a piece of work

in 4 days and 4 men and 16 boys can do the 

same work in 6 days, how long will 6 men and

24 boys take to complete the same work?

Watch Video Solution

https://dl.doubtnut.com/l/_QaMLSL0p25Bl
https://dl.doubtnut.com/l/_M61gziTRzN5r


30. X works 3 times as fast as Y and is able to

complete a work in40 days less than the

number of days taken by Y. Find the time in

which they can complete the work together.

Watch Video Solution

31. A and B can do a piece of work in 10 days

and 15 days respectively. They started the work

together but B left after sometime and A

https://dl.doubtnut.com/l/_M61gziTRzN5r
https://dl.doubtnut.com/l/_CXQdlAqP82KW
https://dl.doubtnut.com/l/_w6kIGNFjkv47


finished the remaining work in 5 days. After

how many days from the start did B leave ?

Watch Video Solution

32. A and B can do a piece of work in 6 days

and 9 days respectively, they work on

alternative days starting with A on the first

day. In how many days will the work be

completed ?

Watch Video Solution

https://dl.doubtnut.com/l/_w6kIGNFjkv47
https://dl.doubtnut.com/l/_BR39rjKbDifs
https://dl.doubtnut.com/l/_XmZCE4QslMOf


33. One man and 3 days can together

complete a piece of work in 10 days. One

women alone can complete it in 30 days. How

many women should accompany 3 men and 9

boys to complete the same work in 2 days ?

Watch Video Solution

34. A,B and C can do a piece of work in 4 days,

5 days and 7 days respectively. They get ₹ 415

for completing the job. If A, B and C have

https://dl.doubtnut.com/l/_XmZCE4QslMOf
https://dl.doubtnut.com/l/_u1H2F5lXukoR


worked together to complete the job, what is

A's share?

Watch Video Solution

35. Two men P and Q can complete a job in 6

days and 8 days respectively. The total

remuneration for the job is ₹ 600. If they

completed the job with the help of a woman in

3 days, find the shares of P,Q and the women

respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_u1H2F5lXukoR
https://dl.doubtnut.com/l/_L7TQ1lzRhDSJ


36. Two pipes A and B can fill a tank in 12

minutes and 18 minutes respectively. If both

the pipes are opened simultaneously, how

long will they take to fill the tank ?

Watch Video Solution

37. Pipe A can fill a tank in 12 minutes,pipe B in

18 minutes and pipe C can empty the full tank

in 36 minutes. If all of them are opend

https://dl.doubtnut.com/l/_L7TQ1lzRhDSJ
https://dl.doubtnut.com/l/_d7AkTTmQI0ZA
https://dl.doubtnut.com/l/_iCXswzoGX8Y1


simultaneously, find the time taken to fill the

empty tank.

Watch Video Solution

38. Two taps P and Q can fill an empty tank in

15 hours and 30 hours respectively. Both taps

were opened at 4 a.m. and after some time,

tap Q was closed. It was found that the tank

was full at 4 p.m. At what time was the tap Q

shut ?

Watch Video Solution

https://dl.doubtnut.com/l/_iCXswzoGX8Y1
https://dl.doubtnut.com/l/_X7IigaAadt4S


39. Three pipes X, Y and Z are fitted to a tank.

For any pipe, the rate of filling is the same as

that of the rate of empting. The rates of filiing

of X, Y and Z are in the ratio . X alone

can fill the tank in 5 hours. Find the time taken

in hours, to fill the tank if X is used as an

emptying pipe while the other two are used as

filling pipes.

Watch Video Solution

2: 3: 4

https://dl.doubtnut.com/l/_X7IigaAadt4S
https://dl.doubtnut.com/l/_xI0aFWTSYqbD


Test Your Concepts Very Short Answer Type

Questions

1. Pipe A can fill a tank in 4 hours, then time

taken by it to fill 3/4th part of the tank is

……………

Watch Video Solution

2. X and Y can do a piece of work in 20 days

and 30 days respectively. The time they take to

https://dl.doubtnut.com/l/_kdc0kK5bSBDr
https://dl.doubtnut.com/l/_CLtgTLEgJuKg


complete the work by working together is

……………

Watch Video Solution

3. Swaroop can do 1/3rd of a work in 12 days.

He can do 3/4th of work in …………..days.

Watch Video Solution

4.  is thrice as fast as  If  can do a piece

of work in  days, the number of days they

A B. B

60

https://dl.doubtnut.com/l/_CLtgTLEgJuKg
https://dl.doubtnut.com/l/_sNnuJSS92xZ0
https://dl.doubtnut.com/l/_kkZPWzueszxC


take to complete the work is ……..

A.  days

B.  days

C.  days

D.  days

Answer: C

Watch Video Solution

22

23

22.5

23.5

https://dl.doubtnut.com/l/_kkZPWzueszxC


5. A is thrice as good workman as B. The ratio

of work done by A and B in the same time is

…………

Watch Video Solution

6. Pipe X can fill a tank in 30 minutes and pipe

Y can empty it in 20 minutes. Both are opened

simultaneously and the tank is filled in 1 h.

(True/False).

Watch Video Solution

https://dl.doubtnut.com/l/_sgRmP2nP4rJ8
https://dl.doubtnut.com/l/_9Tw4YidFrqJe


7. A pipe can fill a tank in 4 hours and another

pipe can empty the same tank in 6 hours.

When both the pipes are opened

simultaneously, the part of tank filled in 1 hour

is …………..

Watch Video Solution

8.  and  can do a piece of work in 

and  days respectively. The ratio of their work

capacities is …………..

A, B C 3, 4

6

https://dl.doubtnut.com/l/_9Tw4YidFrqJe
https://dl.doubtnut.com/l/_RiZlBkiB7FtI
https://dl.doubtnut.com/l/_mDaefteTAYBb


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 3: 5

2: 3: 5

4: 3: 2

2: 3: 6

9. A is twice as fast as B and together they can

complete a work in 20 days. In how many days

can A alone complete the work?

https://dl.doubtnut.com/l/_mDaefteTAYBb
https://dl.doubtnut.com/l/_6LrhSE72mQ2z


Watch Video Solution

10. If 6 boys can eat 6 apples 6 minutes then, 3

boys can eat 3 apples in …………. Minutes.

Watch Video Solution

11. Working together, X and Y can do a piece of

work in 12 days, Y and Z can do it in 15 days

where as X and Z can do it in 20 days. Who is

the most effcient?

https://dl.doubtnut.com/l/_6LrhSE72mQ2z
https://dl.doubtnut.com/l/_oZvEFjRUVRTn
https://dl.doubtnut.com/l/_VhFcZEvY8uPA


Watch Video Solution

12. A and B can do 1/2 and 2/3rd parts of a

work in a given time. The ratio of time taken by

A and B to complete a work is …………….

Watch Video Solution

13. In a unit time, the work done by 3 men and

5 women is equal to the work done by 2 men

and 7 women. The work done by one man is

equal to the work done by ……………… women.

https://dl.doubtnut.com/l/_VhFcZEvY8uPA
https://dl.doubtnut.com/l/_sdKRfKrIUCPT
https://dl.doubtnut.com/l/_CKym8ZKrpHtL


Watch Video Solution

14. A can type 30 words in 1 minutes and B can

type 20 words in 1 minute. Both A and B can

type …………….. Words in 1 minute.

Watch Video Solution

15. Twelve men can make 24 articles in 6 days.

How many articles can 3 men make in days?

Watch Video Solution

https://dl.doubtnut.com/l/_CKym8ZKrpHtL
https://dl.doubtnut.com/l/_dBkcoyqrIiGX
https://dl.doubtnut.com/l/_XdpZFX61yaOO


16. In a unit time, the work done by 3 men is

equal to the work done by 6 women. The ratio

of work done by a man to that of a woman is

………………

Watch Video Solution

17. X can knit 60 baskets in 8 day with the help

of Y, who is having the same capacity as X,X

can knit …………………. Number of baskets in 4

days.

https://dl.doubtnut.com/l/_XdpZFX61yaOO
https://dl.doubtnut.com/l/_8CNORdfTTYPn
https://dl.doubtnut.com/l/_H7DLJ5OaPCNq


Watch Video Solution

18. X, Y and Z can complete a piece of work in

10 days. X and Y can do it in 20 days. Then Z

alone can complete the work in ……………… days.

Watch Video Solution

19. A can complete a piece of work working

along with B in 20 days. If he can complete the

https://dl.doubtnut.com/l/_H7DLJ5OaPCNq
https://dl.doubtnut.com/l/_tmlMtuIXxeFh
https://dl.doubtnut.com/l/_hZlBN8mdY9DR


same work working along with C in 10 days,

then between B and C who is more efficient ?

Watch Video Solution

20. Tap A can fill a tank of 1000 litres capacity

in 14 hours. It can fill a tank of ……… litres in 7

hours.

Watch Video Solution

https://dl.doubtnut.com/l/_hZlBN8mdY9DR
https://dl.doubtnut.com/l/_YOFxLtPpXiLB


21. X persons can complete a work in Y days.

Then, 3X persons can complete the same work

in ……….. Days and  persons can complete the

same work in …………….. Days.

Watch Video Solution

x

3

22. Thirty men can lay a road of length 8 km in

8 days. The number of men required to lay-the

road of length 16 km in 16 days is ………………..

Watch Video Solution

https://dl.doubtnut.com/l/_YrCVxHTQK7r9
https://dl.doubtnut.com/l/_J46qha21ZIpU


23. The ratio of the number of days required

by A,B and C to do a piece of work hours is

. Then, the ratio of work is ……………

Watch Video Solution

1: 2: 3

24. By working 8 hours a day. A can complete a

work in 10 day. If the reduces the work hours

by 3 hours per day, them he can complete the

same work in ……………….. Days.

Watch Video Solution

https://dl.doubtnut.com/l/_J46qha21ZIpU
https://dl.doubtnut.com/l/_m688SzeXUHnN
https://dl.doubtnut.com/l/_wDXTNAPjvfRf


25. Satish, Goel and Khan can do a particular

job in 24,36 and 48 days respectively. If they

start working together and are paid ₹ 5200 for

their work, then find their individual shares.

Watch Video Solution

26. Two persons X and Y together can do a

particular job in 36 days. If X's ability to do the

work is twice that of Y, then find the number of

https://dl.doubtnut.com/l/_wDXTNAPjvfRf
https://dl.doubtnut.com/l/_mrTJMKHsA3uy
https://dl.doubtnut.com/l/_dukdz64dr9vM


days in which X and Y can do the work

individually.

Watch Video Solution

27. If a man cando a piece of work in 8 hours

and a women can do the same work in 12

hours, then find the time it takes for 2 men

and 3 women to finish the same work.

Watch Video Solution

https://dl.doubtnut.com/l/_dukdz64dr9vM
https://dl.doubtnut.com/l/_zw3OrOylz3N8


28. A and B can do a work in 45 days, B and C

in 36 days and A and C in 60 days. In how many

days can A,B and C individually do the work?

Watch Video Solution

29. Tap A is 50% more efficient than tap B. If

tap A can fill a tank in 10 hrs, then tap B can fill

the tank in ………….

Watch Video Solution

https://dl.doubtnut.com/l/_mGj2JBSgXrJY
https://dl.doubtnut.com/l/_6KfQQvAo2VGn
https://dl.doubtnut.com/l/_MbZzQpUraWff


30. A certain number of men can do a job in 10

days, working 6 hours a day. If the number of

men is decreased by , then in how many

days can the remaining men complete the

work, working 9 hours per day?

Watch Video Solution

rd
1

3

31. Pipe A can fill a tank in 4 hours, then time

taken by it to fill 3/4th part of the tank is

……………

Watch Video Solution

https://dl.doubtnut.com/l/_MbZzQpUraWff
https://dl.doubtnut.com/l/_WqAitJ5VJ60S


32. X and Y can do a piece of work in 20 days

and 30 days respectively. The time they take to

complete the work by working together is

……………

Watch Video Solution

33. Swaroop can do 1/3rd of a work in 12 days.

He can do 3/4th of work in …………..days.

Watch Video Solution

https://dl.doubtnut.com/l/_WqAitJ5VJ60S
https://dl.doubtnut.com/l/_3xxOApIgmFwe
https://dl.doubtnut.com/l/_H67GyCBLQavs


34. A is thrice as fast as B. If B can do a piece of

work in 60 days, the number of days they take

to complete the work is ……..

Watch Video Solution

35. A is thrice as good workman as B. The ratio

of work done by A and B in the same time is

…………

Watch Video Solution

https://dl.doubtnut.com/l/_H67GyCBLQavs
https://dl.doubtnut.com/l/_5emTH3XIWo7C
https://dl.doubtnut.com/l/_eNstbSMOl7yW


36. Pipe X can fill a tank in 30 minutes and pipe

Y can empty it in 20 minutes. Both are opened

simultaneously and the tank is filled in 1 h.

(True/False).

Watch Video Solution

37. A pipe can fill a tank in 4 hours and another

pipe can empty the same tank in 6 hours.

When both the pipes are opened

https://dl.doubtnut.com/l/_dN280byB4gCR
https://dl.doubtnut.com/l/_X0fq3B1o8uEc


simultaneously, the part of tank filled in 1 hour

is …………..

Watch Video Solution

38. A,b and C can do a piece of work in 3,4 and

6 days respectively. The ratio of their work

capacities is …………..

Watch Video Solution

https://dl.doubtnut.com/l/_X0fq3B1o8uEc
https://dl.doubtnut.com/l/_kjMkD29HTMzh


39. A is twice as fast as B and together they

can complete a work in 20 days. In how many

days can A alone complete the work?

Watch Video Solution

40. If 6 boys can eat 6 apples 6 minutes then, 3

boys can eat 3 apples in …………. Minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_kl7mJ55mAhSJ
https://dl.doubtnut.com/l/_zegiM2gD3jjv


41. Working together, X and Y can do a piece of

work in 12 days, Y and Z can do it in 15 days

where as X and Z can do it in 20 days. Who is

the most effcient?

Watch Video Solution

42. A and B can do 1/2 and 2/3rd parts of a

work in a given time. The ratio of time taken by

A and B to complete a work is …………….

Watch Video Solution

https://dl.doubtnut.com/l/_5qRy7UhAaxnW
https://dl.doubtnut.com/l/_bczePKYND1rJ


43. In a unit time, the work done by 3 men and

5 women is equal to the work done by 2 men

and 7 women. The work done by one man is

equal to the work done by ……………… women.

Watch Video Solution

44. A can type 30 words in 1 minutes and B can

type 20 words in 1 minute. Both A and B can

type …………….. Words in 1 minute.

Watch Video Solution

https://dl.doubtnut.com/l/_bczePKYND1rJ
https://dl.doubtnut.com/l/_PQvJvwkwZsg6
https://dl.doubtnut.com/l/_D29iGdNiE0iS


45. Twelve men can make 24 articles in 6 days.

How many articles can 3 men make in days?

Watch Video Solution

46. In a unit time, the work done by 3 men is

equal to the work done by 6 women. The ratio

of work done by a man to that of a woman is

………………

Watch Video Solution

https://dl.doubtnut.com/l/_D29iGdNiE0iS
https://dl.doubtnut.com/l/_VUf8E4oq4iu4
https://dl.doubtnut.com/l/_Se0ktURBoP6f


47. X can knit 60 baskets in 8 day with the help

of Y, who is having the same capacity as X,X

can knit …………………. Number of baskets in 4

days.

Watch Video Solution

48. X, Y and Z can complete a piece of work in

10 days. X and Y can do it in 20 days. Then Z

alone can complete the work in ……………… days.

Watch Video Solution

https://dl.doubtnut.com/l/_Se0ktURBoP6f
https://dl.doubtnut.com/l/_OQRtFBEJEXJe
https://dl.doubtnut.com/l/_IJtKjUNYueNB


49. A can complete a piece of work working

along with B in 20 days. If he can complete the

same work working along with C in 10 days,

then between B and C who is more efficient ?

Watch Video Solution

50. Tap A can fill a tank of 1000 litres capacity

in 14 hours. It can fill a tank of ……… litres in 7

hours.

https://dl.doubtnut.com/l/_IJtKjUNYueNB
https://dl.doubtnut.com/l/_AWS2EB0zWGi2
https://dl.doubtnut.com/l/_v3MDR54UPDHw


Watch Video Solution

51. X persons can complete a work in Y days.

Then, 3X persons can complete the same work

in ……….. Days and  persons can complete the

same work in …………….. Days.

Watch Video Solution

x

3

52. Thirty men can lay a road of length 8 km in

8 days. The number of men required to lay-the

https://dl.doubtnut.com/l/_v3MDR54UPDHw
https://dl.doubtnut.com/l/_BLzo0JFP15vm
https://dl.doubtnut.com/l/_YKKmi9njVZdZ


road of length 16 km in 16 days is ………………..

Watch Video Solution

53. The ratio of the number of days required

by A,B and C to do a piece of work hours is

. Then, the ratio of work is ……………

Watch Video Solution

1: 2: 3

54. By working 8 hours a day. A can complete a

work in 10 day. If the reduces the work hours

https://dl.doubtnut.com/l/_YKKmi9njVZdZ
https://dl.doubtnut.com/l/_oBbaH3UWtxfP
https://dl.doubtnut.com/l/_Ls1fqLFNVffA


by 3 hours per day, them he can complete the

same work in ……………….. Days.

Watch Video Solution

55. Satish, Goel and Khan can do a particular

job in 24,36 and 48 days respectively. If they

start working together and are paid ₹ 5200 for

their work, then find their individual shares.

Watch Video Solution

https://dl.doubtnut.com/l/_Ls1fqLFNVffA
https://dl.doubtnut.com/l/_PLi8nN1Bci51


56. Two persons X and Y together can do a

particular job in 36 days. If X's ability to do the

work is twice that of Y, then find the number of

days in which X and Y can do the work

individually.

Watch Video Solution

57. If a man cando a piece of work in 8 hours

and a women can do the same work in 12

https://dl.doubtnut.com/l/_ItIHTtFeOUH9
https://dl.doubtnut.com/l/_8u2b046aYsO6


hours, then find the time it takes for 2 men

and 3 women to finish the same work.

Watch Video Solution

58. A and B can do a work in 45 days, B and C

in 36 days and A and C in 60 days. In how many

days can A,B and C individually do the work?

Watch Video Solution

https://dl.doubtnut.com/l/_8u2b046aYsO6
https://dl.doubtnut.com/l/_aqvqD0tbRmMi


59. Tap A is 50% more efficient than tap B. If

tap A can fill a tank in 10 hrs, then tap B can fill

the tank in ………….

Watch Video Solution

60. A certain number of men can do a job in 10

days, working 6 hours a day. If the number of

men is decreased by , then in how many

days can the remaining men complete the

work, working 9 hours per day?

rd
1

3

https://dl.doubtnut.com/l/_bl1oXgDgFXMG
https://dl.doubtnut.com/l/_JhjlISZEKnSy


Short Answer Type Questions

Watch Video Solution

1. A can do a piece of work in 20 days while B

can do it in 30 days. Both of them start the

work together and work for some time, then B

leaves. If A completes the remaining work in 10

days, then find the number of days for which

they worked together.

Watch Video Solution

https://dl.doubtnut.com/l/_JhjlISZEKnSy
https://dl.doubtnut.com/l/_TCWn4w5sJhLH
https://dl.doubtnut.com/l/_7ugU2i5JhkEC


2. If Ramesh can complete 2/5th of a work in

24 days and Satish can complete 1/3rd of the

work in 30 days, then in how many days can

they complete the work if they work together?

Watch Video Solution

3. Three friends Priya, Usha and Spandana

together can do a piece of work in 56 days. If

Usha's ability to do the work is twice as that of

Spandana and Priya's ability to do the work is

twice as that of Usha, then find the number of

https://dl.doubtnut.com/l/_7ugU2i5JhkEC
https://dl.doubtnut.com/l/_8l04Q1nGxlfc


days required for these friends to complete

the same work if they work individually.

Watch Video Solution

4. Satish can do  of a work in 5 days while

he and Ramesh together can do  of the

same work in 10 days. They start the work

together and work for 5 days after which

Satish leaves. Find the number of days in

which Ramesh alone can finish the remaining

work.

th
1

5

th
9

10

https://dl.doubtnut.com/l/_8l04Q1nGxlfc
https://dl.doubtnut.com/l/_eAcK9xJW0Eps


Watch Video Solution

5. A and B together can do a piece of work in

20 days, while B and C together can do the

same work in 15 days. If A ,B and C together

can finish this work in 10 days, then find the

number of days in which B alone can finish the

work.

Watch Video Solution

https://dl.doubtnut.com/l/_eAcK9xJW0Eps
https://dl.doubtnut.com/l/_Gjour5ed8oVM


6. Two pipes X and Y can fill a tank in 6 hours

and 8 hours respectively while another pipe Z

can empty the tank in 4.8 hours. If all the three

pipes are opened at the same time, then the

time in which the tank can be filled.

Watch Video Solution

7. 4 women and 3 men can do a piece of work

in 2 days while 6 women and 2 men can also

finish it in 2 days. Now find the time taken by

https://dl.doubtnut.com/l/_Mth6LFQPRYbB
https://dl.doubtnut.com/l/_gdJuDt7LuT9k


one woman to complete the same job working

alone. Also, find the time one man takes to

complete the same job working alone.

Watch Video Solution

8. A tank has two inlet pipes, A and B, which

can fill the tank in 12 hours and 18 hours

respectively, and an outlet C which can empty

the tank in 9 hours. A,B and C are all opened at

a time but the outlet C is blocked completely

https://dl.doubtnut.com/l/_gdJuDt7LuT9k
https://dl.doubtnut.com/l/_cbUddz3I7BRd


after 6 hours. Find the total time taken right

from the start to fill the tank.

Watch Video Solution

9. A,B and C can do a work in 20,45 and 120

days respectively.They started the work. A left

10 days before and B left 5 days before the

completion of work. In how many days is the

total work completed ?

Watch Video Solution

https://dl.doubtnut.com/l/_cbUddz3I7BRd
https://dl.doubtnut.com/l/_DM1R3h9416iq
https://dl.doubtnut.com/l/_aLou0IeqH3HU


10. Two pipes P and Q can fill a cistern in 15

minutes and 20 minutes respectively. Both are

opened together, but at the end of 5 minutes,

the pipe P is turned off. How long will the pipe

Q take to fill the cistern ?

Watch Video Solution

11. A and B can do a piece of work in 12 days, B

and C in 15 days and C and A in 20 days. In how

many days can they do it, all working

together?

https://dl.doubtnut.com/l/_aLou0IeqH3HU
https://dl.doubtnut.com/l/_DRimWUjfJolq


Watch Video Solution

12. A garrison of of 2000 men is provisioned

for 15 weeks at the rate of 1.5 kg per day per

men. How many men must leave so that the

same provisions may last for 30 weeks at 1 kg

per day ?

Watch Video Solution

https://dl.doubtnut.com/l/_DRimWUjfJolq
https://dl.doubtnut.com/l/_T8JBI2otg6O8


13. A garrison had provisions for 1500 men for

30 days. After some days, 300 more men

joined the garrison. The provisions lasted for a

total of 26 days from the beginning.After how

many days did the new men join ?

Watch Video Solution

14. A and B can do a work in 12 days and 17

days respectively and with the help of C they

https://dl.doubtnut.com/l/_FA92DN6dE06q
https://dl.doubtnut.com/l/_erZvT5b84mNW


complete the work in 5 days and earn ₹ 238.

Find the share of B.

Watch Video Solution

15. A and B can do a work in 30 days and 10

days respectively. If they work on alternate

days beginning with A, in how many days will

the work be completed?

Watch Video Solution

https://dl.doubtnut.com/l/_erZvT5b84mNW
https://dl.doubtnut.com/l/_VcmBX9vJ8Qu7


Essay Type Question

1. A boy and his mother together can do a

piece of work in 24 days while the day, working

with his father, can complete it in 18 days. If

the mother and father together take 36 days

to complete the same work, then find the time

in which they can complete the work if all the

three work together. Also find the time they

would take to complete the job, if they work

individually.

Watch Video Solution

https://dl.doubtnut.com/l/_5Sr3bRQITXSs


2. A certain number of men can do a work in 15

days working 8 hours a days.If the number of

men is decreased , then in how many days

can twice the previous work be completed by

the remaining men working 5 hours per day?

Watch Video Solution

1

3

3. A motor pumps water from a well into a

tank at the rate of 3000 c.c./sec while another

outlet pumps water out of the tank at the rate

https://dl.doubtnut.com/l/_5Sr3bRQITXSs
https://dl.doubtnut.com/l/_AdNgYR32KO5R
https://dl.doubtnut.com/l/_MzaYXGHJoz7v


of 1800 c.c./sec. If the capacity of the tank is

c.c., then find the time required for

the tank to get filled if both the motor and

outlet are in operation (in minutes).

Watch Video Solution

72 × 106

4. The capacities of A,B and C to complete a

piece of work is . By working together,

the thre of them can complete the work in 24

days. In how many days can C alone complete

it ?

1: 2: 3

https://dl.doubtnut.com/l/_MzaYXGHJoz7v
https://dl.doubtnut.com/l/_T6CCkF3nPsNE


Concept Application Level 1

Watch Video Solution

5. Fifteen men can complete a piece of work in

10 days, working 8 hours per day. How many

persons are required to complete double the

work in 25 days, working 6 hours per day ?

Watch Video Solution

https://dl.doubtnut.com/l/_T6CCkF3nPsNE
https://dl.doubtnut.com/l/_DNkINxiDfBhu


1. A and B working together can complete a

piece of work in 6 days, B and C in 10 days, C

and A in  days. The number of days

required by A,B and C respectively to complete

the work individually is

A. 15,20,30

B. 10,20,30

C. 10,15,30

D. 20,15,10

Answer: C

7
1

2

https://dl.doubtnut.com/l/_ROr6VEuEkOjj


Watch Video Solution

2. A can do th of a piece of work in one day.

While B can do th of the work in a day. In

how many days can they do the same work,

working together?

A. 

B. 2

C. 

D. 

1

4
1

6

2
1

5

2
2

5

5

15

https://dl.doubtnut.com/l/_ROr6VEuEkOjj
https://dl.doubtnut.com/l/_Ao7u7H6JjtW7


Answer: C

Watch Video Solution

3. A and B can do a piece of work in 50 days

and 40 days respectively. If together they

earned ₹ 450 by completing the work , then

what is the share of B?

A. ₹ 275

B. ₹ 225

C. ₹ 250

https://dl.doubtnut.com/l/_Ao7u7H6JjtW7
https://dl.doubtnut.com/l/_a6aTC79iQroR


D. ₹200

Answer: C

Watch Video Solution

4. A can do a piece of work in 10 days and B

can do it in 15 days. After they have worked

together for 4 days, A does away and B

completes the remaining work. In how many

days B complete the remaining work ?

A. 10

https://dl.doubtnut.com/l/_a6aTC79iQroR
https://dl.doubtnut.com/l/_rcXytRB5eoFb


B. 5

C. 15

D. 20

Answer: B

Watch Video Solution

5. A works 3 times as fast as B. If B can

complete a work in 60 days, then in how many

days can A and B together complete the same

work ?

https://dl.doubtnut.com/l/_rcXytRB5eoFb
https://dl.doubtnut.com/l/_2LkJG7yJFsaD


A. 20

B. 12

C. 15

D. 30

Answer: C

Watch Video Solution

6. A and B can do th and th of a piece of

work in 15 days and 10 days respectively. In

how many days can A and B working together

4

5

3

5

https://dl.doubtnut.com/l/_2LkJG7yJFsaD
https://dl.doubtnut.com/l/_tfq3HE4cRRX4


complete the work, if B worked for 5 days

without A ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6
2

17

6
10

17

6
3

17

6
12

17

https://dl.doubtnut.com/l/_tfq3HE4cRRX4


7. Rakesh and Siva can do a piece of work in 15

days and 18 days respectively. They work

together for 5 days and then Rakesh leaves. In

how many days will Siva alone finish the

remaining work?

A. 5

B. 6

C. 8

D. 7

Answer: D

https://dl.doubtnut.com/l/_tbvuUeURSDUB


Watch Video Solution

8. Twelve men can do a piece of work in 15

days. How many men are required to complete

a work which is three and a half times the

original work in 10 days ?

A. 18

B. 54

C. 63

D. 70

https://dl.doubtnut.com/l/_tbvuUeURSDUB
https://dl.doubtnut.com/l/_FkbjC40Uc6VO


Answer: C

Watch Video Solution

9. Working individually, A and B can complete a

piece of work in 30 days and 45 days

respectively. If B joins A after some days and

the whole work is completed in 20 days from

the beginning, after how many days does B

join A ?

A. 15

https://dl.doubtnut.com/l/_FkbjC40Uc6VO
https://dl.doubtnut.com/l/_oy5yup924KGn


B. 10

C. 5

D. 12

Answer: C

Watch Video Solution

10. If 4 men or 6 women can do a piece of work

in 24 days, then how many men should join 3

women to complete the work in 16 days

https://dl.doubtnut.com/l/_oy5yup924KGn
https://dl.doubtnut.com/l/_PcUpUww6VHsy


A. 6

B. 5

C. 4

D. 2

Answer: C

Watch Video Solution

11. Gauthan and Karthik can do a piece of work

in 10 days and 20 days respectively. With the

help of Nilesh, they can complete the whole

https://dl.doubtnut.com/l/_PcUpUww6VHsy
https://dl.doubtnut.com/l/_Rn3AY9NwKWKW


work in 5 days. In how many days can Nilesh

alone complete the work ?

A. 10

B. 20

C. 15

D. 30

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Rn3AY9NwKWKW


12. P and Q undertook a piece of work for ₹

37500. P alone can do it in 20 days, Q alone

can do it in 30 days. With the help of R and P,Q

finished the work in 8 days. What is the share

of R ?

A. ₹ 14000

B. ₹ 13000

C. ₹12000

D. 12500

Answer: D

https://dl.doubtnut.com/l/_Pq0T5ICP8TOB


Watch Video Solution

13. A is twice as efficient as B and they

together can complete a piece of work in 24

days. Find the number of days, that A alone

takes to compelete the work.

A. 36

B. 18

C. 48

D. 30

https://dl.doubtnut.com/l/_Pq0T5ICP8TOB
https://dl.doubtnut.com/l/_WJn1rr54Afyg


Answer: A

Watch Video Solution

14. Two taps A and B can fill a tank in 15

minutes and 20 minutes respectively.If both

the taps are opened simultaneouly, then in

how much time can the empty tank be filled ?

A. hours

B. 8 minutes

C.  minutes

8
4

7

8
4

7

https://dl.doubtnut.com/l/_WJn1rr54Afyg
https://dl.doubtnut.com/l/_fSI1Pjvuvryd


D. 16 minutes

Answer: C

Watch Video Solution

15. Malini can do a piece of work in 20 days,

while Shalini can do it in 25 days. Shalini

started the work and after 5 days Malini joined

her.They together completed the remaining

work. How ,many days did they take to

complete the whole work?

https://dl.doubtnut.com/l/_fSI1Pjvuvryd
https://dl.doubtnut.com/l/_3lIb6FSntuZz


A. 

B. 8

C. 

D. 

Answer: D

Watch Video Solution

8
1

8

8
8

9

13
8

9

16. Working individually, A,B and C can finish a

piece of work in 16 days. 20 days and 30 days

respectively.In how many days can A,B and c

https://dl.doubtnut.com/l/_3lIb6FSntuZz
https://dl.doubtnut.com/l/_rhEgPQ86b6IK


together complete a work which is  times

the previous work ?

A. 30

B. 25

C. 24

D. 20

Answer: C

Watch Video Solution

3
1

2

https://dl.doubtnut.com/l/_rhEgPQ86b6IK


17. A,B and C can do a piece of work in 12,18 and

9 days respectively. A started the work and

worked for 4 days. Then B alone worked for 2

days. How many days would C alone take to

complete the remaining work?

A. 5

B. 4

C. 3

D. 6

Answer: A

https://dl.doubtnut.com/l/_mpdnhim3KCDz


Watch Video Solution

18. Vinay and Varma can do a work in 30 days

and 60 days respectively. If they work on

alternate days beginning with Vinay, in how

many days will the work be completed?

A. 45

B. 35

C. 40

D. 50

https://dl.doubtnut.com/l/_mpdnhim3KCDz
https://dl.doubtnut.com/l/_Ix8Q6GnfBhA3


Answer: C

Watch Video Solution

19. An empty tank can be filled by two pipes

individually in 30 minutes and 60 minutes

respectively. There is also a pipe which can

empty the full tank in 45 minutes.If all the

three pipes are open,how much time does it

take to fill the empty tank ?

A. 36 minutes

https://dl.doubtnut.com/l/_Ix8Q6GnfBhA3
https://dl.doubtnut.com/l/_DHrzO3g71LQP


B. 18 minutes

C. 30 minutes

D. 24 minutes

Answer: A

Watch Video Solution

20. One pipe can fill a tank in 40 minutes and

an outlet pipe can empty the full tank in 24

minutes.If both the pipes are opened

https://dl.doubtnut.com/l/_DHrzO3g71LQP
https://dl.doubtnut.com/l/_SUJCdCbmqnGG


simultaneously, what time will it take for the

full tank to be emptied?

A. 30 minutes

B. 60 minutes

C. 15 minutes

D. 45 minutes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SUJCdCbmqnGG


21. A tap can fill an empty tank in 48 minutes

whereas another tap can empty the full tank in

2 hours. If both the taps are opened at 

a.m., when will the empty tank be filled ?

A.  p.m.

B.  p.m.

C.  p.m.

D.  p.m.

Answer: C

Watch Video Solution

11: 40

12: 40

1: 30

1: 00

1: 20

https://dl.doubtnut.com/l/_zu4de9TvBkoc


Watch Video Solution

22. Two taps A and B can fill a tank in 10 hours

and 40 hours respectively. In how many hours

will the tank be filled, if both the taps were

opened simultaneously?

A. 5

B. 6

C. 7

D. 8

https://dl.doubtnut.com/l/_zu4de9TvBkoc
https://dl.doubtnut.com/l/_7FCyXPQblh5z


Answer: D

Watch Video Solution

23. Nitu alone can complete th of a piece of

work in 20 days. She works for 6 days and

Deepak replaces her. He completes the work in

another 38 days. In how many days can Deepak

complete the entire work if he works alone?

A. 50

B. 25

4

5

https://dl.doubtnut.com/l/_7FCyXPQblh5z
https://dl.doubtnut.com/l/_CBViXRSZr2pR


C. 30

D. 45

Answer: A

Watch Video Solution

24. A and B can complete a piece of work in 12

days and 24 days respectivley. After A had

worked for 6 days, B joined him and then they

completed the work. How much should A

https://dl.doubtnut.com/l/_CBViXRSZr2pR
https://dl.doubtnut.com/l/_REMA8FDe8fqs


receive as his share from the total amount of ₹

180 paid for completing the work?

A. ₹120

B. ₹135

C. ₹100

D. ₹150

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_REMA8FDe8fqs


25. A can do one-third of a piece of work in 4

days and B can do one-fourth of the work in 6

days. How long will they take to complete the

work, working together ?

A. 12 days

B. 6 days

C. 8 days

D. 10 days

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YogE55E0a1W3


Watch Video Solution

26. 6 men and 4 women can do a piece of work

in 32 days. 7 men and 12 women can do it in 18

days. In how many days can 18 men and 8

women do the same work, working together ?

A. 10

B. 12

C. 14

D. 16

https://dl.doubtnut.com/l/_YogE55E0a1W3
https://dl.doubtnut.com/l/_lBXrAu8viw3n


Answer: B

Watch Video Solution

27. Nimai and Gaurang can complete a piece of

work in 40 days and 60 days respectively. With

Nityanand's help they completed the work in

10 days. If the total contract amount for

completing the work is ₹4800, what is

Nityanand's share ?

A. ₹1200

https://dl.doubtnut.com/l/_lBXrAu8viw3n
https://dl.doubtnut.com/l/_ZmDpeC9yGWSp


B. ₹800

C. ₹2800

D. ₹2500

Answer: C

Watch Video Solution

28. Two taps A and B can fill a tank in 10

minutes and 15 minutes respectively. In what

time will the tank be full if tap B was opened 3

minutes after tap A was opened ?

https://dl.doubtnut.com/l/_ZmDpeC9yGWSp
https://dl.doubtnut.com/l/_NfwYwT8g5ec0


A. 6 minutes 12 seconds

B. 7 minutes 12 seconds

C. 8 minutes 12 seconds

D. 9 minutes 12 seconds

Answer: B

Watch Video Solution

29. A certain number of people can complete

can complete a piece of work in 12 days

working 5 hours a day. If thenumber of men is

https://dl.doubtnut.com/l/_NfwYwT8g5ec0
https://dl.doubtnut.com/l/_A6wdPSVQJlSF


decreased by half, how many hours a day

should they work, so that the work is to be

completed in 15 days ?

A. 10

B. 9

C. 8

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_A6wdPSVQJlSF
https://dl.doubtnut.com/l/_vgWU2nSnB5VY


30. The ratio of the rate of work done for a

woman and a man is . Six women can

complete a piece of work in 20 days. If 2

women and 6 men work together, then in how

many days will they complete the work ?

A. 24

B. 30

C. 20

D. None of the above

Answer: A

2: 1

https://dl.doubtnut.com/l/_vgWU2nSnB5VY


Watch Video Solution

31. A and B together can do a piece of work in

10 days. If A alone can do the work in 15 days,

find in how many days that B alone can do the

same work. The following are the steps

involved in solving the above problem.

Arrange them in sequential order. 

One day's work of B is . 


One day's work of A and B is  and one day's

work of A is . 


−
1

10

1

5
1

10
1

15

https://dl.doubtnut.com/l/_vgWU2nSnB5VY
https://dl.doubtnut.com/l/_wYp3JNrqJNw6


B alone can do the work in 30 days. 

One day's work of B is .

A. BADC

B. BDAC

C. BCAD

D. ABDC

Answer: A

Watch Video Solution

1

30

https://dl.doubtnut.com/l/_wYp3JNrqJNw6


32. X can do a piece of work in 6 days while Y

can do the same work in 8 days. Find in how

many days X and Y together can do the same

work? 

The following are the steps involved in solving

the above problem. Arrange them in

sequential order. 

One day's work of X is 1/6 one day's work of Y

is 1/8 

X can do a piece of work in 6 days and Y can do

the same work in 8 days. 

X and Y together can do the same work in 3
3

7

https://dl.doubtnut.com/l/_6Vbu5nqfZJ5I


days. 

One day's work of X and 

A. ABCD

B. BADC

C. BDAC

D. ABDC

Answer: B

Watch Video Solution

Y =
7

24

https://dl.doubtnut.com/l/_6Vbu5nqfZJ5I


33. Thirty men can do a piece of work in 16

days working 8 hours a day. How many men

are needed to complete another work, which is

twice the first one, in 10 days working 12 hours

a day? 

The following are the steps involved in solving

the above problem. Arrange them in

sequential order. 

A)  


B)  


C)  


D)

M2 =
30 × 16 × 8 × 2x

x × 12 × 10

=
30 × 16 × 8

x

M2 × 12 × 10

2x

=
M1D1H1

W1

M2D2H2

W2

M2 = 64

https://dl.doubtnut.com/l/_5PgHd71D9NLw


Concept Application Level 2

A. CBAD

B. ACBD

C. ABCD

D. BACD

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5PgHd71D9NLw


1. Rishikesh and Mukesh can individually

complete a piece of work in 18 days and 24

days respectively. On which day will the work

be completed, If they work on alternate days

starting with Rishikesh ?

A. 11th

B. 20th

C. 21st

D. 18th

Answer: C

https://dl.doubtnut.com/l/_8yiSIErUgNtx


Watch Video Solution

2. A can work twice as fast as B.A. and C

together can work three times as fast as B. If A

,B and C complete a job in 30 days working

together, in how may days can each of them

complete the work?

A. 40,80,100

B. 

C. 

60, 120, 120

50, 100, 120

https://dl.doubtnut.com/l/_8yiSIErUgNtx
https://dl.doubtnut.com/l/_Y2h1MgsWIq14


D. 60,100,80

Answer: B

Watch Video Solution

3. P and Q can individually complete a piece of

work in 15 and 25 days respectively.In how

many days can P and Q complete the work if

they work in alternative days ? 

Starting with P 

Starting with Q?

https://dl.doubtnut.com/l/_Y2h1MgsWIq14
https://dl.doubtnut.com/l/_Ij61x3Mm3kIx


A. 18,19

B. 

C. 

D. 

Answer: C

Watch Video Solution

18,
191

5

18 , 19
3

5

18 , 19
2

5

4. Two taps A and B can fill a tank in 12 minutes

and 20 minutes respectively.If both the pipes

are opened for 10 minutes then the volume of

https://dl.doubtnut.com/l/_Ij61x3Mm3kIx
https://dl.doubtnut.com/l/_dLAZb7GjzTv5


water which overflows as a percentage of the

volume of the tank is …………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25 %

16 %
2

3

20 %

33 %
1

3

https://dl.doubtnut.com/l/_dLAZb7GjzTv5


5. Wages for 30 women amounts to ₹ 60,000

in 36 days. If a man earns double of what a

woman earns, then how many men must join

15 women to complete the work in 24 days?

How much more is earned by the men than by

the women ?

A. 10 men,₹15,000

B. 15 men, ₹20,000

C. 15 men, ₹30,000

D. 10 men, ₹30,000

https://dl.doubtnut.com/l/_hzOy10TK2J2L


Answer: B

Watch Video Solution

6. 6 men and 9 women can do a piece of work

in 4 days.4 men and 3 women can do it in 8

days. In how many days can 20 men and 6

women do the same work ?

A. 2

B. 3

C. 1

https://dl.doubtnut.com/l/_hzOy10TK2J2L
https://dl.doubtnut.com/l/_h8j944ZHx4Hh


D. 4

Answer: A

Watch Video Solution

7. A,B andC can complete a piece of work in 6,12

and 18 days respectively. A and B started the

work and C joined them after one day. B left

just 2 days before the completion of the whole

work.In how many days was the work

completed?

https://dl.doubtnut.com/l/_h8j944ZHx4Hh
https://dl.doubtnut.com/l/_0sn1YNFyOYla


A. 5

B. 4

C. 3

D. 2

Answer: B

Watch Video Solution

8. A and B can complete a piece of work in 10

and 15 days respectively. B starts the work and

https://dl.doubtnut.com/l/_0sn1YNFyOYla
https://dl.doubtnut.com/l/_Njo0PezDIkrx


is joined by A after 5 days. If they earn a total

of ₹60, what are their individual shares ?

A. ₹20,₹40

B. ₹24,₹36

C. ₹25,₹35

D. ₹30,₹30

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Njo0PezDIkrx


9. P worked on a job for 4 hours and then Q

joined him. After 8 more hours,P stopped

working and Q took 34 more hours to

complete the remaining part of the job. If P

and Q together can complete the job in 24

hours, how long will it take for each of them

(in hours) to complete the job invidually?

A. 40,60

B. 48,60

C. 60,45

https://dl.doubtnut.com/l/_E8J1FylgucNz


D. 40,30

Answer: A

Watch Video Solution

10. P,Q and R work together to complete a

piece of work in x days. P and R take 20 days

and 30 days respectively to complete the work.

Q is faster than R and slower than P. If x is an

integer, then how many values can it take ?

A. 1

https://dl.doubtnut.com/l/_E8J1FylgucNz
https://dl.doubtnut.com/l/_8J6zfH6SKIuO


B. 2

C. 3

D. 4

Answer: A

View Text Solution

11. P,Q and R can do a piece of work in 18 days,

36 days and 54 day respectively. They start the

work together but Q and R leave 1 day and 5

days respectively, before the completion of

https://dl.doubtnut.com/l/_8J6zfH6SKIuO
https://dl.doubtnut.com/l/_s5Nm1aqffZLj


work. In how many days has the work been

completed ?

A. 10

B. 11

C. 

D. 

Answer: B

Watch Video Solution

10
7

11

10
9

11

https://dl.doubtnut.com/l/_s5Nm1aqffZLj


12. Pipes A, B and C can fill an empty tank in 12

minutes, 24 minutes and 36 minutes

respectively. Pipes D and E can empty the full

tank in 18 minutes and 72 minutes respectively.

If all of them are opened simultaneously, then

find the time taken to fill the empty tank. The

following are the steps involved in solving the

above problem. Arrange them in sequential

order. 

 


The work done by 5 pipes in1 minute. 

 

− = =
11

72

5

72

6

72

1

12

= ( + + ) − ( + )
1

12

1

24

1

36

1

18

1

72

https://dl.doubtnut.com/l/_lmA04tctjetO


 


The part of tank filled by A,B and C in 1 minute

is 1/12,1/24 and 1/36 respectively. 

The part of the tank emptied by D and E in 1

minute is 1/18 and 1/72 respectively.

A. CDBA

B. DCAB

C. BCAD

D. DBAC

Answer: A

W h Vid S l i

( ) − ( )
6 + 3 + 2

72

4 + 1

72

https://dl.doubtnut.com/l/_lmA04tctjetO


Watch Video Solution

13. X,Y and Z can complete a job in 24 days, 32

days and 48 days respectively. They worked

together and earned a total of ₹ x.Find the

ratio of their shares.

A. 

B. 

C. 

D. 

4: 3: 2

3: 2: 1

5: 4: 3

6: 5: 4

https://dl.doubtnut.com/l/_lmA04tctjetO
https://dl.doubtnut.com/l/_iEVUw6w0TWqr


Answer: A

Watch Video Solution

14. P and Q can complete a job in 6 days and 7

days respectively. They worked together and

earned a total of ₹ 780. Find P's share in this

amount (in₹ ).

A. 350

B. 490

C. 420

https://dl.doubtnut.com/l/_iEVUw6w0TWqr
https://dl.doubtnut.com/l/_wyDF3HSaC5lh


D. 560

Answer: C

Watch Video Solution

15. M and N can complete a job in 120 days and

180 days respectively. M started the job and

after 60 days N joined M and they completed

the remaining part of the job working

together.In how many days was the job

completed?

https://dl.doubtnut.com/l/_wyDF3HSaC5lh
https://dl.doubtnut.com/l/_vCJ102av64nu


A. 88

B. 84

C. 96

D. 82

Answer: C

Watch Video Solution

16. B can do a job twice as fast as A and half as

fast as C.A.B. and C together take 16 days to

https://dl.doubtnut.com/l/_vCJ102av64nu
https://dl.doubtnut.com/l/_ujjet9jD6zJp


complete it. In many days can C alone

complete it ?

A. 25

B. 42

C. 35

D. 28

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ujjet9jD6zJp


17. Ten boys or twenty girls can complete a job

in 10 days. In how many days can a boy and a

girl complete it

A. 50

B. 

C. 

D. 70

Answer: C

Watch Video Solution

58
1

3

66
2

3

https://dl.doubtnut.com/l/_IWnFQBOY8Yx2


18. Murali and Sai can complete a job in 20

days and 30 days respectively. Two days after

they start the job, Murali leaves and Sai

completes the remining job. In how many days

can Sai complete the remaining job ?

A. 20

B. 25

C. 15

D. 18

Answer: B

https://dl.doubtnut.com/l/_G8zItqUZnlw6


Watch Video Solution

19. Y can complete a job half as fast as X and

twice as fast as Z,X,Y and Z takes 8 days to

complete it. In how many days can Y alone

complete it?

A. 21

B. 28

C. 35

D. 42

https://dl.doubtnut.com/l/_G8zItqUZnlw6
https://dl.doubtnut.com/l/_fpf5fpFIrMUg


Answer: B

Watch Video Solution

20. Five men or ten women can complete a job

in 20 days. In how many days can 3 men and 4

women complete it ?

A. 10

B. 15

C. 20

D. 25

https://dl.doubtnut.com/l/_fpf5fpFIrMUg
https://dl.doubtnut.com/l/_ZFKuRKmdNhmx


Concept Application Level 3

Answer: C

Watch Video Solution

1. Pipe A can fill a tank in 12 hours and pipe B

can empty the tank in 18 hours. Both pipes are

opened at 6 a.m. and after some time pipe B is

closed and the tank is full at 8 p.m. At what

time was the pipe B closed ?

https://dl.doubtnut.com/l/_ZFKuRKmdNhmx
https://dl.doubtnut.com/l/_1nNUFTvUbmGQ


A. 10 a.m.

B. 8 a.m.

C. 9 a.m.

D. 11 a.m.

Answer: C

Watch Video Solution

2. A garrion had provisions for 1500 men for

30 days. After some days, 300 more men

joined the garrison. The provisions lasted for a

https://dl.doubtnut.com/l/_1nNUFTvUbmGQ
https://dl.doubtnut.com/l/_DXhWWAPRQ2x9


total of 26 days from the beginning. After how

many days did the new men join ?

A. 24

B. 6

C. 4

D. 26

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DXhWWAPRQ2x9


3. Two filling pipes P and Q are fitted to a tank.

P is first opend for half the time taken by Q

alone to fill the tank and then closed. Q is then

opened for half the time taken by P alone to

fill the tank.If the tank is full after a total of 6

hours after P was opened, for how many long

was Q opened ? (in hours)

A. 5

B. 4

C. 3

https://dl.doubtnut.com/l/_32XdxWiSPHBF


D. 2

Answer: C

Watch Video Solution

4. A can do a piece of work in 18 days, B in36

days and C in 54 days. A starts the work and is

joined by B after 1 day, C joins them after 4

more days. How many more days will be

required to complete the work?

A. 11

https://dl.doubtnut.com/l/_32XdxWiSPHBF
https://dl.doubtnut.com/l/_E5W3IVNBzTpO


B. 9

C. 8

D. 6

Answer: D

Watch Video Solution

5. In a fort, provisions are sufficient for 1600

soldiers for 30 days, if each soldier cnsumes at

the rate of 2.5 kg per day. If 400 more soldiers

join the fort and now each soldier consumes 3

https://dl.doubtnut.com/l/_E5W3IVNBzTpO
https://dl.doubtnut.com/l/_xSS1tEu4Zkjd


kg per day, for how many days will the

provisions last?

A. 15

B. 10

C. 20

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xSS1tEu4Zkjd


6. In a fort, there are 1500 soldiers and they

have provisions for 90 days.If 600 soldiers

leave the fort and the remaining soldiers

increase their consumption rate by 50%, for

how many days will the provisions last ?

A. 80

B. 90

C. 100

D. 120

Answer: C

https://dl.doubtnut.com/l/_0npU4tL1001p


Watch Video Solution

7. P,Q and R can complete a job in 18 days,24

days and 36 days respectively. P started it and

worked for 3 days. P then left Q then worked

on it for 8 days. Q then left. R completed the

remaining part of the job in 12 days. Find the

time for which R worked (in days).

A. 12

B. 18

C. 4

https://dl.doubtnut.com/l/_0npU4tL1001p
https://dl.doubtnut.com/l/_xuRT8wHSauEs


Test Your Concepts Short Answer Type Questions

D. 27

Answer: B

Watch Video Solution

1. A can do a piece of work in 20 days while B

can do it in 30 days. Both of them start the

work together and work for some time, then B

leaves. If A completes the remaining work in 10

https://dl.doubtnut.com/l/_xuRT8wHSauEs
https://dl.doubtnut.com/l/_nxd2COaMrtHu


days, then find the number of days for which

they worked together.

Watch Video Solution

2. If Ramesh can complete 2/5th of a work in

24 days and Satish can complete 1/3rd of the

work in 30 days, then in how many days can

they complete the work if they work together?

Watch Video Solution

https://dl.doubtnut.com/l/_nxd2COaMrtHu
https://dl.doubtnut.com/l/_dVNeFHL5ek6f


3. Three friends Priya, Usha and Spandana

together can do a piece of work in 56 days. If

Usha's ability to do the work is twice as that of

Spandana and Priya's ability to do the work is

twice as that of Usha, then find the number of

days required for these friends to complete

the same work if they work individually.

Watch Video Solution

https://dl.doubtnut.com/l/_C5OpMOgiy5kg


4. Satish can do 1/5th of a work in 5 days while

he and Ramesh together can do 9/10th of the

same work in 10 days. They start the work

together and work for 5 days after which

Satish leaves. Find the number of days in

which Ramesh alone can finish the remaining

work.

Watch Video Solution

https://dl.doubtnut.com/l/_M02MwP4NpC0R


5. A and B together can do a piece of work in

20 days, while B and C together can do the

same work in 15 days. If A ,B and C together

can finish this work in 10 days, then find the

number of days in which B alone can finish the

work.

Watch Video Solution

6. Two pipes X and Y can fill a tank in 6 hours

and 8 hours respectively while another pipe Z

https://dl.doubtnut.com/l/_L9FbbXkg3r1a
https://dl.doubtnut.com/l/_MMgCL4pjC58f


can empty the tank in 4.8 hours. If all the three

pipes are opened at the same time, then the

time in which the tank can be filled.

Watch Video Solution

7. 4 women and 3 men can do a piece of work

in 2 days while 6 women and 2 men can also

finish it in 2 days. Now find the time taken by

one woman to complete the same job working

alone. Also, find the time one man takes to

complete the same job working alone.

https://dl.doubtnut.com/l/_MMgCL4pjC58f
https://dl.doubtnut.com/l/_UqDaQx14sHwj


Watch Video Solution

8. A tank has two inlet pipes, A and B, which

can fill the tank in 12 hours and 18 hours

respectively, and an outlet C which can empty

the tank in 9 hours. A,B and C are all opened at

a time but the outlet C is blocked completely

after 6 hours. Find the total time taken right

from the start to fill the tank.

Watch Video Solution

https://dl.doubtnut.com/l/_UqDaQx14sHwj
https://dl.doubtnut.com/l/_5kkHkxGX1Rt5


9. A,B and C can do a work in 20,45 and 120

days respectively.They started the work. A left

10 days before and B left 5 days before the

completion of work. In how many days is the

total work completed ?

Watch Video Solution

10. Two pipes P and Q can fill a cistern in 15

minutes and 20 minutes respectively. Both are

opened together, but at the end of 5 minutes,

https://dl.doubtnut.com/l/_ezkzfJbzJyB3
https://dl.doubtnut.com/l/_KqRZs0iuNenu


the pipe P is turned off. How long will the pipe

Q take to fill the cistern ?

Watch Video Solution

11. A and B can do a piece of work in 12 days, B

and C in 15 days and C and A in 20 days. In how

many days can they do it, all working

together?

Watch Video Solution

https://dl.doubtnut.com/l/_KqRZs0iuNenu
https://dl.doubtnut.com/l/_6PMDVB4fqlDY


12. A garrison of of 2000 men is provisioned

for 15 weeks at the rate of 1.5 kg per day per

men. How many men must leave so that the

same provisions may last for 30 weeks at 1 kg

per day ?

Watch Video Solution

13. A garrison had provisions for 1500 men for

30 days. After some days, 300 more men

joined the garrison. The provisions lasted for a

https://dl.doubtnut.com/l/_P1XCQ6HE5vKn
https://dl.doubtnut.com/l/_og0mlykOLAGG


total of 26 days from the beginning.After how

many days did the new men join ?

Watch Video Solution

14. A and B can do a work in 12 days and 17

days respectively and with the help of C they

complete the work in 5 days and earn ₹ 238.

Find the share of B.

Watch Video Solution

https://dl.doubtnut.com/l/_og0mlykOLAGG
https://dl.doubtnut.com/l/_tYidUvxkadjG


Test Your Concepts Essay Type Questions

15. A and B can do a work in 30 days and 10

days respectively. If they work on alternate

days beginning with A, in how many days will

the work be completed?

Watch Video Solution

1. A boy and his mother together can do a

piece of work in 24 days while the day, working

https://dl.doubtnut.com/l/_cQQrzyt7Qm1O
https://dl.doubtnut.com/l/_qRlQ3bWg0fLO


with his father, can complete it in 18 days. If

the mother and father together take 36 days

to complete the same work, then find the time

in which they can complete the work if all the

three work together. Also find the time they

would take to complete the job, if they work

individually.

Watch Video Solution

2. A certain number of men can do a work in 15

days working 8 hours a days.If the number of

https://dl.doubtnut.com/l/_qRlQ3bWg0fLO
https://dl.doubtnut.com/l/_6nX5XhRa9Txw


men is decreased , then in how many days

can twice the previous work be completed by

the remaining men working 5 hours per day?

Watch Video Solution

1

3

3. A motor pumps water from a well into a

tank at the rate of 3000 c.c./sec while another

outlet pumps water out of the tank at the rate

of 1800 c.c./sec. If the capacity of the tank is

c.c., then find the time required for72 × 106

https://dl.doubtnut.com/l/_6nX5XhRa9Txw
https://dl.doubtnut.com/l/_ftuspkWiGGvf


the tank to get filled if both the motor and

outlet are in operation (in minutes).

Watch Video Solution

4. The capacities of A,B and C to complete a

piece of work is . By working together,

the thre of them can complete the work in 24

days. In how many days can C alone complete

it ?

Watch Video Solution

1: 2: 3

https://dl.doubtnut.com/l/_ftuspkWiGGvf
https://dl.doubtnut.com/l/_XfUKanI0kwRJ
https://dl.doubtnut.com/l/_8vmiVZPtWZRy


Concept Application Level 1

5. Fifteen men can complete a piece of work in

10 days, working 8 hours per day. How many

persons are required to complete double the

work in 25 days, working 6 hours per day ?

Watch Video Solution

1. A and B working together can complete a

piece of work in 6 days, B and C in 10 days, C

and A in  days. The number of days7
1

2

https://dl.doubtnut.com/l/_8vmiVZPtWZRy
https://dl.doubtnut.com/l/_wbrKjThsj3xH


required by A,B and C respectively to complete

the work individually is

A. 15, 20, 30

B. 10, 20, 30

C. 10, 15, 30

D. 20, 15, 10

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wbrKjThsj3xH


2. A can do th of a piece of work in one day.

While B can do th of the work in a day. In

how many days can they do the same work,

working together?

A. 

B. 2

C. 

D. 

Answer: C

Watch Video Solution

1

4
1

6

2
1

5

2
2

5

5

12

https://dl.doubtnut.com/l/_iFC5XWBGat27


Watch Video Solution

3. A and B can do a piece of work in 50 days

and 40 days respectively. If together they

earned ₹ 450 by completing the work , then

what is the share of B?

A. ₹ 275

B. ₹ 225

C. ₹ 250

D. ₹ 200

https://dl.doubtnut.com/l/_iFC5XWBGat27
https://dl.doubtnut.com/l/_KeFbiXMUew4l


Answer: C

Watch Video Solution

4. A can do a piece of work in 10 days and B

can do it in 15 days. After they have worked

together for 4 days, A does away and B

completes the remaining work. In how many

days B complete the remaining work ?

A. 10

B. 5

https://dl.doubtnut.com/l/_KeFbiXMUew4l
https://dl.doubtnut.com/l/_7PWfRLardifa


C. 15

D. 20

Answer: B

Watch Video Solution

5. A works 3 times as fast as B. If B can

complete a work in 60 days, then in how many

days can A and B together complete the same

work ?

https://dl.doubtnut.com/l/_7PWfRLardifa
https://dl.doubtnut.com/l/_qNrGrPYliUYQ


A. 20

B. 12

C. 15

D. 30

Answer: C

Watch Video Solution

6. A and B can do th and th of a piece of

work in 15 days and 10 days respectively. In

how many days can A and B working together

4

5

3

5

https://dl.doubtnut.com/l/_qNrGrPYliUYQ
https://dl.doubtnut.com/l/_kSw73Vownt6W


complete the work, if B worked for 5 days

without A ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6
2

17

6
10

17

6
3

17

6
12

17

https://dl.doubtnut.com/l/_kSw73Vownt6W


7. Rakesh and Siva can do a piece of work in 15

days and 18 days respectively. They work

together for 5 days and then Rakesh leaves. In

how many days will Siva alone finish the

remaining work?

A. 5

B. 6

C. 8

D. 7

Answer: D

https://dl.doubtnut.com/l/_nSolZAzqiIVg


Watch Video Solution

8. Twelve men can do a piece of work in 15

days. How many men are required to complete

a work which is three and a half times the

original work in 10 days ?

A. 18

B. 54

C. 63

D. 70

https://dl.doubtnut.com/l/_nSolZAzqiIVg
https://dl.doubtnut.com/l/_BR7IxMMITYeJ


Answer: C

Watch Video Solution

9. Working individually, A and B can complete a

piece of work in 30 days and 45 days

respectively. If B joins A after some days and

the whole work is completed in 20 days from

the beginning, after how many days does B

join A ?

A. 15

https://dl.doubtnut.com/l/_BR7IxMMITYeJ
https://dl.doubtnut.com/l/_JOLbG88Iz4cX


B. 10

C. 5

D. 12

Answer: C

Watch Video Solution

10. If 4 men or 6 women can do a piece of work

in 24 days, then how many men should join 3

women to complete the work in 16 days

https://dl.doubtnut.com/l/_JOLbG88Iz4cX
https://dl.doubtnut.com/l/_RVDZofVfL1he


A. 6

B. 5

C. 4

D. 2

Answer: C

Watch Video Solution

11. Gauthan and Karthik can do a piece of work

in 10 days and 20 days respectively. With the

help of Nilesh, they can complete the whole

https://dl.doubtnut.com/l/_RVDZofVfL1he
https://dl.doubtnut.com/l/_oVFodK309q8N


work in 5 days. In how many days can Nilesh

alone complete the work ?

A. 10

B. 20

C. 15

D. 30

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oVFodK309q8N


12. P and Q undertook a piece of work for ₹

37500. P alone can do it in 20 days, Q alone

can do it in 30 days. With the help of R and P,Q

finished the work in 8 days. What is the share

of R ?

A. ₹ 14,000

B. ₹ 13,000

C. ₹ 12,000

D. ₹ 12,500

Answer: D

https://dl.doubtnut.com/l/_XGtU6mgbMUbp


Watch Video Solution

13. A is twice as efficient as B and they

together can complete a piece of work in 24

days. Find the number of days, that A alone

takes to compelete the work.

A. 36

B. 18

C. 48

D. 30

https://dl.doubtnut.com/l/_XGtU6mgbMUbp
https://dl.doubtnut.com/l/_BlJTwXTe7Vug


Answer: A

Watch Video Solution

14. Two taps A and B can fill a tank in 15

minutes and 20 minutes respectively.If both

the taps are opened simultaneouly, then in

how much time can the empty tank be filled ?

A. 

B. 8 min

C. min

8 h
4

7

8
4

7

https://dl.doubtnut.com/l/_BlJTwXTe7Vug
https://dl.doubtnut.com/l/_9EvOLBnURIFP


D. 16 min

Answer: C

Watch Video Solution

15. Malini can do a piece of work in 20 days,

while Shalini can do it in 25 days. Shalini

started the work and after 5 days Malini joined

her.They together completed the remaining

work. How ,many days did they take to

complete the whole work?

https://dl.doubtnut.com/l/_9EvOLBnURIFP
https://dl.doubtnut.com/l/_IAPZv8U14vpB


A. 

B. 8

C. 

D. 

Answer: D

Watch Video Solution

8
1

8

8
8

9

13
9

8

16. Working individually, A,B and C can finish a

piece of work in 16 days. 20 days and 30 days

respectively.In how many days can A,B and c

https://dl.doubtnut.com/l/_IAPZv8U14vpB
https://dl.doubtnut.com/l/_H0ARsZEMpkuP


together complete a work which is  times

the previous work ?

A. 30

B. 25

C. 24

D. 20

Answer: C

Watch Video Solution

3
1

2

https://dl.doubtnut.com/l/_H0ARsZEMpkuP


17. A,B and C can do a piece of work in 12,18 and

9 days respectively. A started the work and

worked for 4 days. Then B alone worked for 2

days. How many days would C alone take to

complete the remaining work?

A. 5

B. 4

C. 3

D. 6

Answer: A

https://dl.doubtnut.com/l/_wTfw87dlXnCB


Watch Video Solution

18. Vinay and Varma can do a work in 30 days

and 60 days respectively. If they work on

alternate days beginning with Vinay, in how

many days will the work be completed?

A. 45

B. 35

C. 49

D. 50

https://dl.doubtnut.com/l/_wTfw87dlXnCB
https://dl.doubtnut.com/l/_5Ds4Tqfxie7r


Answer: C

Watch Video Solution

19. An empty tank can be filled by two pipes

individually in 30 minutes and 60 minutes

respectively. There is also a pipe which can

empty the full tank in 45 minutes.If all the

three pipes are open,how much time does it

take to fill the empty tank ?

A. 36 min

https://dl.doubtnut.com/l/_5Ds4Tqfxie7r
https://dl.doubtnut.com/l/_CPJW4RovkDpB


B. 18 min

C. 30 min

D. 24 min

Answer: A

Watch Video Solution

20. One pipe can fill a tank in 40 minutes and

an outlet pipe can empty the full tank in 24

minutes.If both the pipes are opened

https://dl.doubtnut.com/l/_CPJW4RovkDpB
https://dl.doubtnut.com/l/_PGsAWZMN2Yvj


simultaneously, what time will it take for the

full tank to be emptied?

A. 30 min

B. 60 min

C. 15 min

D. 45 min

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PGsAWZMN2Yvj


21. A tap can fill an empty tank in 48 minutes

whereas another tap can empty the full tank in

2 hours. If both the taps are opened at 

a.m., when will the empty tank be filled ?

A. 12:40 p.m.

B. 1:30 p.m.

C. 1:00 p.m.

D. 1:20 p.m.

Answer: C

Watch Video Solution

11: 40

https://dl.doubtnut.com/l/_2kPPgH1PaZxU


Watch Video Solution

22. Two taps A and B can fill a tank in 10 hours

and 40 hours respectively. In how many hours

will the tank be filled, if both the taps were

opened simultaneously?

A. 5

B. 6

C. 7

D. 8

https://dl.doubtnut.com/l/_2kPPgH1PaZxU
https://dl.doubtnut.com/l/_lYvrntapSaI7


Answer: D

Watch Video Solution

23. Nitu alone can complete th of a piece of

work in 20 days. She works for 6 days and

Deepak replaces her. He completes the work in

another 38 days. In how many days can Deepak

complete the entire work if he works alone?

A. 50

B. 25

4

5

https://dl.doubtnut.com/l/_lYvrntapSaI7
https://dl.doubtnut.com/l/_YsTgjA9gavq1


C. 30

D. 45

Answer: A

Watch Video Solution

24. A and B can complete a piece of work in 12

days and 24 days respectivley. After A had

worked for 6 days, B joined him and then they

completed the work. How much should A

https://dl.doubtnut.com/l/_YsTgjA9gavq1
https://dl.doubtnut.com/l/_qy7MSKixSWBD


receive as his share from the total amount of ₹

180 paid for completing the work?

A. ₹ 120

B. ₹ 135

C. ₹ 100

D. ₹ 150

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qy7MSKixSWBD


25. A can do one-third of a piece of work in 4

days and B can do one-fourth of the work in 6

days. How long will they take to complete the

work, working together ?

A. 12 days

B. 6 days

C. 8 days

D. 10 days

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1EsoRzCjJuDj


Watch Video Solution

26. Six men and 4 women can do a piece of

work in 32 days. Seven men and 12 women can

do it in 18 days. In how many days can 18 men

and 8 women do the same work, working

together ?

A. 10

B. 12

C. 14

D. 16

https://dl.doubtnut.com/l/_1EsoRzCjJuDj
https://dl.doubtnut.com/l/_sLVLmAAAtpj9


Answer: B

Watch Video Solution

27. Nimai and Gaurang can complete a piece of

work in 40 days and 60 days respectively. With

Nityanand's help they completed the work in

10 days. If the total contract amount for

completing the work is ₹4800, what is

Nityanand's share ?

A. ₹ 1200

https://dl.doubtnut.com/l/_sLVLmAAAtpj9
https://dl.doubtnut.com/l/_VwznGopzMqXr


B. ₹ 800

C. ₹ 2800

D. ₹ 2500

Answer: C

Watch Video Solution

28. Two taps A and B can fill a tank in 10

minutes and 15 minutes respectively. In what

time will the tank be full if tap B was opened 3

minutes after tap A was opened ?

https://dl.doubtnut.com/l/_VwznGopzMqXr
https://dl.doubtnut.com/l/_eEmvis1gVqeN


A. 6 min 12 s

B. 7 min 12 s

C. 8 min 12 s

D. 9 min 12 s

Answer: B

Watch Video Solution

29. A certain number of people can complete

can complete a piece of work in 12 days

working 5 hours a day. If thenumber of men is

https://dl.doubtnut.com/l/_eEmvis1gVqeN
https://dl.doubtnut.com/l/_RrsY1YSDAmAP


decreased by half, how many hours a day

should they work, so that the work is to be

completed in 15 days ?

A. 10

B. 9

C. 8

D. 6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RrsY1YSDAmAP
https://dl.doubtnut.com/l/_peEUXgE68VDu


30. The ratio of the rate of work done for a

woman and a man is . Six women can

complete a piece of work in 20 days. If 2

women and 6 men work together, then in how

many days will they complete the work ?

A. 24

B. 30

C. 20

D. 22

Answer: A

2: 1

https://dl.doubtnut.com/l/_peEUXgE68VDu


Watch Video Solution

31. A and B together can do a piece of work in

10 days. If A alone can do the work in 15 days,

find in how many days that B alone can do the

same work. The following are the steps

involved in solving the above problem.

Arrange them in sequential order. 

One day's work of B is . 


One day's work of A and B is  and one day's

work of A is . 


−
1

10

1

15
1

10
1

15

https://dl.doubtnut.com/l/_peEUXgE68VDu
https://dl.doubtnut.com/l/_ldhx1O69PM7C


B alone can do the work in 30 days. 

One day's work of B is .

A. BADC

B. BDAC

C. BCAD

D. ABDC

Answer: A

Watch Video Solution

1

30

https://dl.doubtnut.com/l/_ldhx1O69PM7C


32. X can do a piece of work in 6 days while Y

can do the same work in 8 days. Find in how

many days X and Y together can do the same

work? 

The following are the steps involved in solving

the above problem. Arrange them in

sequential order. 

One day's work of X is 1/6 one day's work of Y

is 1/8 

X can do a piece of work in 6 days and Y can do

the same work in 8 days. 

X and Y together can do the same work in 3
3

7

https://dl.doubtnut.com/l/_fLbbdJufWiwh


days. 

One day's work of X and 

A. ABCD

B. BADC

C. BDAC

D. ABDC

Answer: B

Watch Video Solution

Y =
7

24

https://dl.doubtnut.com/l/_fLbbdJufWiwh


33. Thirty men can do a piece of work in 16

days working 8 hours a day. How many men

are needed to complete another work, which is

twice the first one, in 10 days working 12

working a day? 

The following are the steps involved in solving

the above problem. Arrange them in

sequential order. 

 


 


 


M2 =
30 × 16 × 8 × 2x

x × 12 × 10

=
30 × 16 × 8

x

M2 × 12 × 10

2x

=
M1D1H1

W1

M2D2H2

W2

M2 = 64

https://dl.doubtnut.com/l/_KC6SWjYh8lg8


Concept Application Level 2

A. CBAD

B. ACBD

C. ABCD

D. BACD

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KC6SWjYh8lg8


1. Rishikesh and Mukesh can individually

complete a piece of work in 18 days and 24

days respectively. On which day will the work

be completed, If they work on alternate days

starting with Rishikesh ?

A. 11th

B. 20th

C. 21st

D. 18th

Answer: C

https://dl.doubtnut.com/l/_WYsYHxyfJ29H


Watch Video Solution

2. A can work twice as fast as B.A. and C

together can work three times as fast as B. If A

,B and C complete a job in 30 days working

together, in how may days can each of them

complete the work?

A. 40, 80, 100

B. 60, 120, 120

C. 50, 100, 120

https://dl.doubtnut.com/l/_WYsYHxyfJ29H
https://dl.doubtnut.com/l/_8M0jQEo9kTft


D. 60, 100, 80

Answer: B

Watch Video Solution

3. P and Q can individually complete a piece of

work in 15 and 25 days respectively.In how

many days can P and Q complete the work if

they work in alternative days ? 

Starting with P 

Starting with Q?

https://dl.doubtnut.com/l/_8M0jQEo9kTft
https://dl.doubtnut.com/l/_iQ37tAvbpowO


A. 18, 19

B. 

C. 

D. 

Answer: C

Watch Video Solution

18,
191

5

18 , 19
3

5

18 , 19
2

5

4. Two taps A and B can fill a tank in 12 minutes

and 20 minutes respectively.If both the pipes

are opened for 10 minutes then the volume of

https://dl.doubtnut.com/l/_iQ37tAvbpowO
https://dl.doubtnut.com/l/_YAFW5I2aLv88


water which overflows as a percentage of the

volume of the tank is …………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25 %

16 %
2

3

20 %

33 %
1

3

https://dl.doubtnut.com/l/_YAFW5I2aLv88


5. Wages for 30 women amounts to ₹ 60,000

in 36 days. If a man earns double of what a

woman earns, then how many men must join

15 women to complete the work in 24 days?

How much more is earned by the men than by

the women ?

A. 10 men, ₹ 15,000

B. 15 men, ₹ 20,000

C. 15 men, ₹ 30,000

D. 10 men, ₹ 30,000

https://dl.doubtnut.com/l/_d7tc1rzVKSGD


Answer: B

Watch Video Solution

6. 6 men and 9 women can do a piece of work

in 4 days.4 men and 3 women can do it in 8

days. In how many days can 20 men and 6

women do the same work ?

A. 2

B. 3

C. 1

https://dl.doubtnut.com/l/_d7tc1rzVKSGD
https://dl.doubtnut.com/l/_EvY7MdkbZ5EM


D. 4

Answer: A

Watch Video Solution

7. A,B andC can complete a piece of work in 6,12

and 18 days respectively. A and B started the

work and C joined them after one day. B left

just 2 days before the completion of the whole

work.In how many days was the work

completed?

https://dl.doubtnut.com/l/_EvY7MdkbZ5EM
https://dl.doubtnut.com/l/_nMOvdjKuiCoQ


A. 5

B. 4

C. 3

D. 2

Answer: B

Watch Video Solution

8. A and B can complete a piece of work in 10

and 15 days respectively. B starts the work and

https://dl.doubtnut.com/l/_nMOvdjKuiCoQ
https://dl.doubtnut.com/l/_xMKNr4zzpIFp


is joined by A after 5 days. If they earn a total

of ₹60, what are their individual shares ?

A. ₹ 20, ₹ 40

B. ₹ 24, ₹ 36

C. ₹ 25, ₹ 35

D. ₹ 30, ₹ 30

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xMKNr4zzpIFp


9. P worked on a job for 4 hours and then Q

joined him. After 8 more hours,P stopped

working and Q took 34 more hours to

complete the remaining part of the job. If P

and Q together can complete the job in 24

hours, how long will it take for each of them

(in hours) to complete the job invidually?

A. 40, 60

B. 48, 60

C. 60, 45

https://dl.doubtnut.com/l/_VQdnBjInDyiF


D. 40, 30

Answer: A

Watch Video Solution

10. P,Q and R work together to complete a

piece of work in x days. P and R take 20 days

and 30 days respectively to complete the work.

Q is faster than R and slower than P. If x is an

integer, then how many values can it take ?

A. 1

https://dl.doubtnut.com/l/_VQdnBjInDyiF
https://dl.doubtnut.com/l/_h1JXCX5XBEu8


B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

11. P,Q and R can do a piece of work in 18 days,

36 days and 54 day respectively. They start the

work together but Q and R leave 1 day and 5

days respectively, before the completion of

https://dl.doubtnut.com/l/_h1JXCX5XBEu8
https://dl.doubtnut.com/l/_25qmZJI28D8u


work. In how many days has the work been

completed ?

A. 10

B. 11

C. 

D. 

Answer: B

Watch Video Solution

10
7

11

10
9

11

https://dl.doubtnut.com/l/_25qmZJI28D8u


12. Pipes A, B and C can fill an empty tank in 12

minutes, 24 minutes and 36 minutes

respectively. Pipes D and E can empty the full

tank in 18 minutes and 72 minutes respectively.

If all of them are opened simultaneously, then

find the time taken to fill the empty tank. The

following are the steps involved in solving the

above problem. Arrange them in sequential

order. 

 


The work done by 5 pipes in1 minute. 

 

− = =
11

72

5

72

6

72

1

12

= ( + + ) − ( + )
1

12

1

24

1

36

1

18

1

72

https://dl.doubtnut.com/l/_GOdmvQPVONhV


 


The part of tank filled by A,B and C in 1 minute

is 1/12,1/24 and 1/36 respectively. 

The part of the tank emptied by D and E in 1

minute is 1/18 and 1/72 respectively.

A. DBCA

B. DCAB

C. BCAD

D. DBAC

Answer: A

W h Vid S l i

( ) − ( )
6 + 3 + 2

72

4 + 1

72

https://dl.doubtnut.com/l/_GOdmvQPVONhV


Watch Video Solution

13. X,Y and Z can complete a job in 24 days, 32

days and 48 days respectively. They worked

together and earned a total of ₹ x.Find the

ratio of their shares.

A. 

B. 

C. 

D. 

4: 3: 2

3: 2: 1

5: 4: 3

6: 5: 4

https://dl.doubtnut.com/l/_GOdmvQPVONhV
https://dl.doubtnut.com/l/_lTWHVGEsleXK


Answer: A

Watch Video Solution

14. P and Q can complete a job in 6 days and 7

days respectively. They worked together and

earned a total of ₹ 780. Find P's share in this

amount (in₹ ).

A. 350

B. 490

C. 420

https://dl.doubtnut.com/l/_lTWHVGEsleXK
https://dl.doubtnut.com/l/_SitVHVmXy6bo


D. 560

Answer: C

Watch Video Solution

15. M and N can complete a job in 120 days and

180 days respectively. M started the job and

after 60 days N joined M and they completed

the remaining part of the job working

together.In how many days was the job

completed?

https://dl.doubtnut.com/l/_SitVHVmXy6bo
https://dl.doubtnut.com/l/_JWLbakrEVCOf


A. 88

B. 84

C. 96

D. 82

Answer: C

Watch Video Solution

16. B can do a job twice as fast as A and half as

fast as C.A.B. and C together take 16 days to

https://dl.doubtnut.com/l/_JWLbakrEVCOf
https://dl.doubtnut.com/l/_CLwbUsdrsaKl


complete it. In many days can C alone

complete it ?

A. 25

B. 42

C. 35

D. 28

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CLwbUsdrsaKl


17. Ten boys or twenty girls can complete a job

in 10 days. In how many days can a boy and a

girl complete it

A. 50

B. 

C. 

D. 70

Answer: C

Watch Video Solution

58
1

3

66
2

3

https://dl.doubtnut.com/l/_MaDBBvQWNniQ


18. Murali and Sai can complete a job in 20

days and 30 days respectively. Two days after

they start the job, Murali leaves and Sai

completes the remining job. In how many days

can Sai complete the remaining job ?

A. 20

B. 25

C. 15

D. 18

Answer: B

https://dl.doubtnut.com/l/_RpjvVxR5oY0D


Watch Video Solution

19. Y can complete a job half as fast as X and

twice as fast as Z,X,Y and Z takes 8 days to

complete it. In how many days can Y alone

complete it?

A. 21

B. 28

C. 35

D. 42

https://dl.doubtnut.com/l/_RpjvVxR5oY0D
https://dl.doubtnut.com/l/_jzmZVpnGk0fH


Answer: B

Watch Video Solution

20. Five men or ten women can complete a job

in 20 days. In how many days can 3 men and 4

women complete it ?

A. 10

B. 15

C. 20

D. 25

https://dl.doubtnut.com/l/_jzmZVpnGk0fH
https://dl.doubtnut.com/l/_uYqmYFSbYVsW


Concept Application Level 3

Answer: C

Watch Video Solution

1. Pipe A can fill a tank in 12 hours and pipe B

can empty the tank in 18 hours. Both pipes are

opened at 6 a.m. and after some time pipe B is

closed and the tank is full at 8 p.m. At what

time was the pipe B closed ?

https://dl.doubtnut.com/l/_uYqmYFSbYVsW
https://dl.doubtnut.com/l/_vmJ2xgIBfPkI


A. 10 a.m.

B. 8 a.m.

C. 9 a.m.

D. 11 a.m.

Answer: C

Watch Video Solution

2. A garrison had provisions for 1500 men for

30 days. After some days, 300 more men

joined the garrison. The provisions lasted for a

https://dl.doubtnut.com/l/_vmJ2xgIBfPkI
https://dl.doubtnut.com/l/_O11maAlOHAZe


total of 26 days from the beginning.After how

many days did the new men join ?

A. 24

B. 6

C. 4

D. 26

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_O11maAlOHAZe


3. Two filling pipes P and Q are fitted to a tank.

P is first opend for half the time taken by Q

alone to fill the tank and then closed. Q is then

opened for half the time taken by P alone to

fill the tank.If the tank is full after a total of 6

hours after P was opened, for how many long

was Q opened ? (in hours)

A. 5

B. 4

C. 3

https://dl.doubtnut.com/l/_dPOY9mxHLYC6


D. 2

Answer: C

Watch Video Solution

4. A can do a piece of work in 18 days, B in36

days and C in 54 days. A starts the work and is

joined by B after 1 day, C joins them after 4

more days. How many more days will be

required to complete the work?

A. 11

https://dl.doubtnut.com/l/_dPOY9mxHLYC6
https://dl.doubtnut.com/l/_jyWr8BLs9pL3


B. 9

C. 8

D. 6

Answer: D

Watch Video Solution

5. In a fort, provisions are sufficient for 1600

soldiers for 30 days, if each soldier cnsumes at

the rate of 2.5 kg per day. If 400 more soldiers

join the fort and now each soldier consumes 3

https://dl.doubtnut.com/l/_jyWr8BLs9pL3
https://dl.doubtnut.com/l/_wJ8iHkVA6cTM


kg per day, for how many days will the

provisions last?

A. 15

B. 10

C. 20

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wJ8iHkVA6cTM


6. In a fort, there are 1500 soldiers and they

have provisions for 90 days.If 600 soldiers

leave the fort and the remaining soldiers

increase their consumption rate by 50%, for

how many days will the provisions last ?

A. 80

B. 90

C. 100

D. 120

Answer: C

https://dl.doubtnut.com/l/_Gv2FpqmWPgrZ


Watch Video Solution

7. P,Q and R can complete a job in 18 days,24

days and 36 days respectively. P started it and

worked for 3 days. P then left Q then worked

on it for 8 days. Q then left. R completed the

remaining part of the job in 12 days. Find the

time for which R worked (in days).

A. 12

B. 18

C. 24

https://dl.doubtnut.com/l/_Gv2FpqmWPgrZ
https://dl.doubtnut.com/l/_bM8a2DX04ml0


D. 27

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bM8a2DX04ml0

